XTI RULI Il Specifications

2-phase stepping motor

56mm sq. (2.20inch sq.)

103H712 [
1.8° /step

Unipolar winding * Lead wire type
Holding torque at 2-phase

Model energization Rated current Wiring resistance Winding inductance  Rotor inertia Mass (Weight)
Single shaft Double shafts [N - m (oz - in) MIN.] Alphase Q /phase mH/phase [X10-*kg - m?(0z-in’)] [kg (lbs) ]
103H7121-0140 -0110 0.39 (55.2) 1 4.8 8 0.1 (0.55) 0.47 (1.04)
103H7121-0440 -0410 0.39 (55.2) 2 1.25 1.9 0.1 (0.55) 0.47 (1.04)
103H7121-0740 -0710 0.39 (55.2) 3 0.6 0.8 0.1 (0.55) 0.47 (1.04)
103H7123-0140 -0110 0.83 (117.) 1 6.7 15 0.21 (1.15) 0.65 (1.43)
103H7123-0440 -0410 0.83 (117.5) 2 1.6 3.8 0.21 (1.15) 0.65 (1.43)
103H7123-0740 -0710 0.78 (110.5) 3 0.77 1.58 0.21 (1.15) 0.65 (1.43)
103H7124-0140 -0110 0.98 (138.8) 1 7 14.5 0.245 (1.34) 0.8 (1.76)
103H7124-0440 -0410 0.98 (138.8) 2 1.7 3.1 0.245 (1.34) 0.8 (1.76)
103H7124-0740 -0710 0.98 (138.8) 3 0.74 1.4 0.245 (1.34) 0.8 (1.76)
103H7126-0140 -0110 1.27 (179.8) 1 8.6 19 0.36 (1.97) 0.98 (2.16)
103H7126-0440 -0410 1.27 (179.8) 2 2 4.5 0.36 (1.97) 0.98 (2.16)
103H7126-0740 -0710 1.27 (179.8) 3 0.9 2.2 0.36 (1.97) 0.98 (2.16)
Bipolar winding * Lead wire type

Model Sr?éc::_:)ri]gaiioc:gue Gt 2SR Rated current Wiring resistance Winding inductance  Rotor inertia Mass (Weight)
Single shaft Double shafts [N-m (oz - in) MIN.] Alphase Q /phase mH/phase [X10-*kg-m2(0z-in2)] [kg (Ibs) ]
103H7121-5640 -5610 0.55 (77.9) 1 4.3 14.5 0.1 (0.55) 0.47 (1.04)
103H7121-5740 -5710 0.55 (77.9) 2 1.1 3.7 0.1 (0.55) 0.47 (1.04)
103H7121-5840 -5810 0.55 (77.9) 3 0.54 1.74 0.1 (0.55) 0.47 (1.04)
103H7123-5640 -5610 1.0 (141.6) 1 5.7 29.4 0.21 (1.15) 0.65 (1.43)
103H7123-5740 -5710 1.0 (141.6) 2 1.5 7.5 0.21 (1.15) 0.65 (1.43)
103H7123-5840 -5810 1.0 (141.6) 3 0.7 3.5 0.21 (1.15) 0.65 (1.43)
103H7126-5640 -5610 1.6 (226.6) 1 7.7 34.6 0.36 (1.97) 0.98 (2.16)
103H7126-5740 -5710 1.6 (226.6) 2 2 9.1 0.36 (1.97) 0.98 (2.16)
103H7126-5840 -5810 1.6 (226.6) 3 0.94 4 0.36 (1.97) 0.98 (2.16)
103H7128-5640 -5610 2.0 (283.2) 1 8.9 40.1 0.49 (2.68) 1.3 (2.87)
103H7128-5740 -5710 2.0 (283.2) 2 2.3 10.4 0.49 (2.68) 1.3 (2.87)
103H7128-5840 -5810 2.0 (283.2) 3 1.03 4.3 0.49 (2.68) 1.3 (2.87)



B Pulse rate-torque characteristics
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Constant current circuit

Source voltage : DC24V - operating current : 1A/phase,
2-phase energization (full-step)

Ju = [0.94x10kg - m? (5.14 0z - in?) use the rubber coupling]

Jiz = [0.8x10%kg * m? (4.37 0z in?) use the direct coupling]
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Constant current circuit

Source voltage : DC24V - operating current : 1A/phase,
2-phase energization (full-step)

Ju = [0.94x10%kg - m? (5.14 0z - in?) use the rubber coupling]

Jiz = [0.8x10%kg - m? (4.37 0z - in?) use the direct coupling]
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Constant current circuit

Source voltage : DC24V - operating current : 1A/phase,
2-phase energization (full-step)

Ju = [2.6x10kg * m? (14.22 0z * in?) use the rubber coupling]

Jiz = [2.6x10kg - m? (14.22 0z * in?) use the direct coupling]
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Constant current circuit

Source voltage : DC24V - operating current : 1A/phase,
2-phase energization (full-step)

Ju = [2.6x10kg - m? (14.22 0z - in?) use the rubber coupling]

Jiz = [2.6x10%kg * m? (14.22 0z * in?) use the direct coupling]
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Constant current circuit

Source voltage : DC24V - operating current : 2A/phase,
2-phase energization (full-step)

Ju = [0.94x10kg - m? (5.14 0z * in?) use the rubber coupling]

Jiz = [0.8x10kg - m? (4.37 oz - in?) use the direct coupling]
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Constant current circuit

Source voltage : DC24V - operating current : 2A/phase,
2-phase energization (full-step)

Ju = [0.94x10%kg - m? (5.14 0z - in?) use the rubber coupling]

Ji2 = [0.8x10kg - m? (4.37 0z + in?) use the direct coupling]
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Constant current circuit

Source voltage : DC24V - operating current : 2A/phase,
2-phase energization (full-step)

Ju = [2.6x10%kg * m? (14.22 0z - in?) use the rubber coupling]

Juiz = [2.6x10kg - m? (14.22 0z * in?) use the direct coupling]
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Constant current circuit

Source voltage : DC24V - operating current : 2A/phase,
2-phase energization (full-step)

Ju = [2.6x10%kg * m? (14.22 0z - in?) use the rubber coupling]

Ji2 = [2.6x10kg - m? (14.22 0z - in?) use the direct coupling]

@ 103H7121-07 L[]

05
70y 5
60
4] o
50 [ 1] Pull-out torque at JL1
~ |E |~ N
< 53 £0.
e R
z
= o2{50.
e |s7e L
= Starting torque
20 atJL2
1] 04
10
o] o 0
0.1 1 10 100
Pulse rate (kpulse/s)
100 1000 2000 3000 5000

Number of rotations (min-)

Constant current circuit

Source voltage : DC24V - operating current : 3A/phase,
2-phase energization (full-step)

Ju=10.94x10kg - m? (5.14 0z * in?) use the rubber coupling]

Jiz = [0.8x10%kg - m? (4.37 0z * in?) use the direct coupling]
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Constant current circuit

Source voltage : DC24V - operating current : 3A/phase,
2-phase energization (full-step)

Ju = [0.94x10%kg - m? (5.14 0z * in?) use the rubber coupling]

Jiz = [0.8x10%kg - m? (4.37 0z * in?) use the direct coupling]

Stepping motor
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Constant current circuit

Source voltage : DC24V - operating current : 3A/phase,
2-phase energization (full-step)

Ju = [2.6x10%kg - m? (14.22 0z * in?) use the rubber coupling]

Jio = [2.6x10kg * m? (14.22 0z * in?) use the direct coupling]
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Constant current circuit

Source voltage : DC24V - operating current : 3A/phase,
2-phase energization (full-step)

Ju = [2.6x10kg - m? (14.22 0z - in?) use the rubber coupling]

Jiz = [2.6x10kg - m? (14.22 0z - in?) use the direct coupling]

The date are measured under the drive condition of our company. The drive torque may very depending on the accuracy of customer-side equipment. 36
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Constant current circuit

Source voltage : DC24V - operating current : 1A/phase,
2-phase energization (full-step)

Ju = [0.94x10kg - m? (5.14 0z - in?) use the rubber coupling]

Jiz = [0.8x10%kg * m? (4.37 0z in?) use the direct coupling]
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Constant current circuit

Source voltage : DC24V - operating current : 1A/phase,
2-phase energization (full-step)

Jir = [2.6x10%kg - m? (14.22 0z - in?) use the rubber coupling]

Ji2 = [2.6x10kg - m? (14.22 0z - in?) use the direct coupling]
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Constant current circuit

Source voltage : DC24V - operating current : 1A/phase,
2-phase energization (full-step)

Ju = [2.6x10kg - m? (14.22 0z - in?) use the rubber coupling]

Jiz = [2.6x10kg - m? (14.22 0z - in?) use the direct coupling]
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Constant current circuit

Source voltage : DC24V - operating current : 1A/phase,
2-phase energization (full-step)

Ju = [7.4x10%kg - m? (40.46 0z in?) use the rubber coupling]

Jiz = [7.4x10%kg - m? (40.46 0z * in?) use the direct coupling]
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Constant current circuit

Source voltage : DC24V - operating current : 2A/phase,
2-phase energization (full-step)

Ju = [0.94x10*kg - m? (5.14 0z * in?) use the rubber coupling]

Jiz = [0.8x10kg - m? (4.37 0z * in?) use the direct coupling]
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Constant current circuit

Source voltage : DC24V - operating current : 2A/phase,
2-phase energization (full-step)

Jir = [2.6x10kg - m? (14.22 0z - in?) use the rubber coupling]

Juiz = [2.6x10kg - m? (14.22 0z - in?) use the direct coupling]
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Constant current circuit

Source voltage : DC24V - operating current : 2A/phase,
2-phase energization (full-step)

Ju = [2.6x10%kg * m? (14.22 0z - in?) use the rubber coupling]

Ji2 = [2.6x10kg - m? (14.22 0z - in?) use the direct coupling]

@ 103H7128-57 [ ]

5.l

004 50
600
40| 490
500
T [ EgfEs
o0 5 |2
PO -
a00] 3,/ &
57 g0y 52
- 2" Pull-out torque at JL
ull- 1
200 \ ‘ q
10{ 10
100 Starting
torque at N
ol ol o J |11
0.1 1 10 100
Pulse rate (kpulse/s)
100 1000 2000 3000 5000

Number of rotations (min)

Constant current circuit

Source voltage : DC24V - operating current : 2A/phase,
2-phase energization (full-step)

Ju = [7.4x10%kg - m? (40.46 0z * in?) use the rubber coupling]

Jiz = [7.4x10%kg * m? (40.46 0z * in?) use the direct coupling]

® 103H7121-58 [ 1]
10
oy 10
2] ol os
100 -
2 | 5o Eos
'Sau :“E’ z | [ Pull-ou e atJi1
FRERE
5601 34 S04
I - N .
0
2] 02
20 Starting torque
atJL2 ‘
0 0 0 L1
0.1 1 10 100
Pulse rate (kpulse/s)
100 1000 2000 3000 5000

Number of rotations (min™)

Constant current circuit

Source voltage : DC24V - operating current : 3A/phase,
2-phase energization (full-step)

Ju = [0.94x10kg - m? (5.14 0z - in?) use the rubber coupling]

Jiz = [0.8x10%kg * m? (4.37 0z * in?) use the direct coupling]
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Constant current circuit

Source voltage : DC24V - operating current : 3A/phase,
2-phase energization (full-step)

Jir = [2.6x10%kg - m2 (14.22 0z - in?) use the rubber coupling]

Jio = [2.6x10%kg - m? (14.22 0z - in?) use the direct coupling]
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Constant current circuit

Source voltage : DC24V - operating current : 3A/phase,
2-phase energization (full-step)

Ju = [2.6x10%kg - m? (14.22 0z - in?) use the rubber coupling]

Jiz = [2.6x10kg - m? (14.22 0z * in?) use the direct coupling]
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Constant current circuit

Source voltage : DC24V - operating current : 3A/phase,
2-phase energization (full-step)

Ju = [7.4x10%kg - m? (40.46 0z - in?) use the rubber coupling]

Jiz = [7.4x10%kg * m? (40.46 0z * in?) use the direct coupling]

The date are measured under the drive condition of our company. The drive torque may very depending on the accuracy of customer-side equipment.



2-phase stepping motor

56mm sq. (2.20inch sq.)

103H712 []
CE marking
1.8° /step

(€

Unipolar winding
Holding torque at 2-phase

Model energization Rated current Wiring resistance Winding inductance  Rotor inertia Mass (Weight)
Single shaft Double shafts [N -m (oz - in) MIN] Alphase Q /phase mH/phase [X10-*kg-m?(oz-in”)] [kg (Ibs) ]
103H7121-6140 -6110 0.39 (55.2) 1 4.8 8 0.1 (0.55) 0.47 (1.04)
103H7121-6740 -6710 0.39 (55.2) 3 0.6 0.8 0.1 (0.55) 0.47 (1.04)
103H7123-6140 -6110 0.83 (117.5) 1 6.7 15 0.21 (1.15) 0.65 (1.43)
103H7123-6740 -6710 0.78 (110.5) 3 0.77 1.58 0.21 (1.15) 0.65 (1.43)
103H7126-6140 -6110 1.27 (179.8) 1 8.6 19 0.36 (1.97) 0.98 (2.16)
103H7126-6740 -6710 1.27 (179.8) 3 0.9 2.2 0.36 (1.97) 0.98 (2.16)
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Constant current circuit

Source voltage : DC24V - operating current : 1A/phase,
2-phase energization (full-step)

Ju = [0.94x10%kg - m? (5.14 0z - in?) use the rubber coupling]

Jiz = [0.8x10kg - m? (4.37 0z - in?) use the direct coupling]
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Constant current circuit

Source voltage : DC24V - operating current : 3A/phase,
2-phase energization (full-step)

Ju = [0.94x10kg - m? (5.14 0z * in?) use the rubber coupling]

Jio = [0.8x10%kg - m? (4.37 0z - in?) use the direct coupling]

Constant current circuit

Source voltage : DC24V - operating current : 3A/phase,
2-phase energization (full-step)

Ju = [0.94x10%kg - m? (5.14 0z * in?) use the rubber coupling]

Ji2 = [0.8x10kg - m? (4.37 0z * in?) use the direct coupling]

® 103H7126-61 L]

20

0y 2

uol g

200{ _

£ |~

T | cnyE12
P P ™
ETE |2
© o |3 Pull-out torque at JL1
8120 & ¢{ Zos
e |8 "

80

4
arting
40
torque at RN
ual
ol o) ol d2 | M
0.1 1 10 100
Pulse rate (kpulse/s)
100 1000 2000 3000 5000

Number of rotations (min)

Constant current circuit

Source voltage : DC24V - operating current : 1A/phase,
2-phase energization (full-step)

Ju = [2.6x10kg * m? (14.22 0z - in?) use the rubber coupling]

Jiz = [2.6x10kg - m? (14.22 0z * in?) use the direct coupling]

Constant current circuit

Source voltage : DC24V - operating current : 1A/phase,
2-phase energization (full-step)

Ju = [0.94x10%g - m? (5.14 0z * in?) use the rubber coupling]

Jiz=[0.8x10*kg - m? (4.37 0z in?) use the direct coupling]
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Constant current circuit

Source voltage : DC24V - operating current : 3A/phase,
2-phase energization (full-step)

Ju = [2.6x10%kg - m? (14.22 0z * in?) use the rubber coupling]

Jiz = [2.6x10%kg * m? (14.22 0z in?) use the direct coupling]

The date are measured under the drive condition of our company. The drive torque may very depending on the accuracy of customer-side equipment. 44






